MATHEMATICS
FORM TWO - MARKING SCHEME



MATHEMATICS

FORM TWO - MARKING SCHEME

SECTION I (40 Marks)- Answer all questions in this section.
1. a) Use the table of cubes to evaluate 23.5°
23057 = (2.35x10 )
I 12: 973 X loj
= 13,133 " ERE

I

b) Find the cube root of 3.375 using prime factor method

_—— " [389s  Fas A

}\/3-315 =g =g =
[9) \O
3375 = eax3 xBxr5x5 v

- Haz1s = 3=

2.E 2

2. Evaluate using the table of reciprocaiS' o + 645
-1
> s (‘b A2 'x 18 2y + 2(La5X0 ) v

x%qz O“%jv/
*545*()'550

= 2.5(0. 13X ‘0 )+9~C0 \550)(\0 )

—_—

= 2913] @

——

3. Simplify the expression 3 '%ﬁ%ﬁ

< e B R

S, BB e
X

Z -\
= i@,m?)x\\j/
7( e

(2 mark)

(2marks)

(4 marks)

(2marks)
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4. Use logarithm tables to evaluate: jl—%—g‘s—%ﬁ (3 marks)
____N_"é_'_—ﬂ————— ' 13853 G
1244 |2 9948 Ankilog=> 0 X 1
A v N ey B
36487 g = 2445
745 |2.8722 Vo peeat v o
J= o TS % g
0.3%4%%
5. Solve for x mag=y given that 2% x 8%+ 4= 64 sy (3 marks)
Sy g o lx-2 = 6
*t3-2) ¢ hx = B
F e T Eai
Gx-2)
A = [z ¥z v

%6. Abankin Kenyabuysand sells foreign currencies as follows.

Currency Buying(Ksh) Selling(Kshs)
1Sterling 134.20 134.65
1US dollar 71.40 71.84

A touristarrived in Kenyawith 4500 US dollars. He converted all thedollars to Kenyashillings at thebank.
While in KenyahespentKshs 215,000 and then converted the remainingamount to sterlingpounds in the

same bank. Calculate the amounthereceived in sterlingpound.

£ b oes
= 1,4’500 X |- 40

Kes, 321,300

L ess Experdliture
321,300 ~ 215000

Kes o6 300

—

(3marks)
es to F.
= loppwo
) 34 65
= F 787. 45

7. The length of an arc of a circle is 8.8cm. If the arc subtends an angle 144° at the centre, calculate;

a)the radius of the circle (Take 7 ~ 22/7)
L=% g, D=l Y=7

&%= 144 yox B XY
360
NE= 3'5)(‘360)(-’
28X L
I X 2 X2

(2 marks)
Y= }}.J_‘ié
6,350

T:‘. S'SC‘W \/

a——————
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b) the area enclosed by the arc and the radii

=0 ™
A= Y e |

= W 2By 3 EX305
360 Ax

Mo USHBBH 1

8. Determine the number of sides of a regular polygon whose sum of interior angles is 1440°

Sym = 190 (n-2)

440" = 1g0(n-2)
4{%5 | 60
</-—'_\
g = Fl=2

= A 42

(2 tarks)

v’

(@marks)

=40 SidaS L

9. A shopkeeper made a loss of 20% by selling a trouser at Sh. 960. What profit would he have made if he

had sold it at sh.1500

20l of BP= S-P

; x jfg—)g P = 960 \/
o0

6‘) =960 X .LQ.O—-
%0

= \Mes;, |1200 \/

(3marks)

|f sp= kes. 1500 :
200

Pofit, = ll500 —-IIQOO =
= WKes. 300 =

10. A student spent 2/7 of his pocket money on stationeries, a third on food-stuffs and 5/8 of the remainder
on transport. If he had Ksh. 150 left, how much pocket money did he have at the beginning? (3marks)

Lok Vocket Money = X
. Stat. + Fod = X KX

|
Y
A
>
|
Y
>
N,

T\-;C\QS T—

f
N
X

- '%
lotal 3 21t 2K = 5 &
3
Qewt. 5 X=X =37 ¥
|
= |50 ¥<°
X 3

¥e=lags, 17050 v
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11. Two bells ring at intervals of 35 and 42 minutes respectively. The bells ring together at 8:48 a.m.
Determine the time when the bells will ring together again.

- (3 marks)
KW o 35 42 2. = Ihr 3o win Vv
2 |85 2 To 3 B
g 135 7} 2 e B i AW
20T 7 v 35 ;30
I 11278
v ¢ L= 2e3KS5K] t \4—60
= 2o Whn 125 1% ?M/

12. A two-digit number is 18 more than the number formed by reversing the digits. If the sum of the digits is
10. Find the number.

(3 marks)
Letx oo, be XY 1 (Ax-99 = 18)
. (lox+y) - (loy+x) =18 ¢I+ X+Yy = 1o =
loX+y-10y-x = 18 X—4 =
\ AX+ 0 =R . 2= O
GR— Y| s }\/ —— -
TR taosrhar o Y 4
50\\4\1:3 S\W\U\'\Q(\QOO_S\—L).} TR B WSS VY.
13. Evaluate; (3 marks)

l’»
= L5 METNE < WL R SR Ao
=7 1Y e A3 )W’\_l fb}\/‘
‘>l5_)(.lf.':5
> L
» b5
=3

MATHS F2 : Page 50f10
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SECTION II (30Marks)- Answer any THREE questions

14. The figure below represents a piece of land consisting of a trapezoidal region and a semi-circular end of
radius 87.5m

250m
S0 i © 200
: \
AL
200m
a) Calculate
(i)  The perimeter of the land (3marks)
Q- '75l+ o bz YXZx815w™ o
: : z o P- 769,502 ™
Az Aj33125 |67 137.5M sl

o= 182:002M ] 0, Rlimety:
- = 192,003 + 250+H137:51200

(ii)  The area of the land in hectares | (3marks)
A = ,'/Lx[lso-tio&)))(l"ls A, X 5 o 375 o T 51 Hob.22
i = 12008
= e A50 R 1IS '03‘ 25m (0,000
= 39,395 1o A= 39575 = 5,11-{019?.51/«&
X &t | 2.0 3 A
To6 25
b) A private developer bought this piece of land aTa‘pF?E:Te'chK_ﬁ—AUO_UOO per hectare and later sold the
all land at 2.25 million shillings. Determine;
@) The price at which he bought the whole piece of land (2marks)

BP= 5140623 x 406000

= kes 2,056,250

— —————

(ii)  His percentage profit (2marks)
1 Pofit = (2,250,000 — 205K, Pbo) B Wa
240 56,250

- ﬂ.qu"(o\/

6 X —
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15. The comner points A, B, C and D of a ranch are such that B is 8 km directly East of A and C is 6 km from
B on a bearing of(30°. D is 7 km from C on a bearing of 300°. '
(a) Using a scale of 1 cm to represent 1 km, draw a diagram to show the position of A, B, C and D.

(4 marks)
b) Use the scale to determine the; 25" : ] B
(i) compass bearing of A from D. : (1 mark)
=S 30(> w A
(i)  distance BD in kilometers. (2 marks)
2p = do2mx V) v/
(iii) bearin;of lc)i;r%mKBM o Ve (1 mark)
ano of N2ow v
(iv)  perimeter of the ranch in kilometers. (2 marks)
Ap= lokm T 0:ikm P=31m tolwm v

Pevimaetef = g4 L+ 7+ 1O

16. a) A straight line L, whose equation is 3y —2x = -2 meets the x-axis at R. Determine the coordinates of

R. (2 marks)
Lo ok S Bods (1, 0) w
Sy =—"2 T
D S s =2 %
=Rl =R
B=d
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b) A second line L; is perpendicular to L; at R. Find the equation of L; in the form y = mx +c, wheie m

and c are constants. ( i (3 marks)
M= % 1| v 00 ()
35 W']\My. b_o B —_% \/
%‘ iY) -1 L‘)_? X= 1 K

y= ~% 0D

'L:
_3
W= «/

‘3:: “z)(“f‘%_ \/

a) A third line L; passes through (-4, 1) and is parallel to L2.Find:
(i) the equation of L; in the form y = mx +¢, where m and ¢ are constants. (2 marks)
e
My= M = ~% y-1= < Fx—b
Using 4, 0) (XY9) b A
=7
5 | % 2
= 2 &
i
T b
Y=1 = ./7_0(""")
(ii) The coordinates of a point S, at which L; and L intersects (3 marks)
L2 Y Y S 2 xt JaX = =5t st~ %
1> Fx =~ = , e S B 3
n b, Bel a6 | Suex
3P Ax-5=7 3 o 8 v
Ar \ntvcectian . ’ K E = . e 5611—1>
ik =~ = -%%x-5 T 1 7/562)"% =
17. A cylindrical tank of diameter 3.6m and height 2.5m internally is two-thirds full of juice.
(3 marks)

a) Calculate the volume of the juice in litres.

2
V= Q/SQ(%X PEX 225
= N AaE e
\\'YIB: |OOOL
V= 16.97143x 000 Vv~

= \bﬁ‘ll«%(. A
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¢) The juice is packed in small packets measuring Sem by.Zcm by 1Zem. A packet retails at Kes. 40.

Calculate;
i) the capacity of each packet in cm’ (2 marks)
V= BXBX l2. > v~ '
- B
= B0 C
ii) the number of full packets obtained (3 marks)
| ot = 4%0car =480 ML ;
o " oo full pas = 25,357
= o) ‘4_5 L \/ am——————c
.y o of FER TGNz 5
0 &%
_ = 35,357 l45 :
iii) the amount of money realized from the sale of the juice 4 (2 marks)
Sales = 35,357 X40 v~
= kO L 4144290 .
18. Triangle PQR has vertices P(3,2), Q(-1,1) and R(-2,-1).
(a) Draw PQR on the grid provided. (1mark)

(b) Under a rotation the vertices of P'Q'R" are P'(1,4), Q'(2,0) and R'(4,-1). Find the centre and angle
of rotation using points P and Q. (4marks)

() Triangle PQR is enlarged with scale factor 3 centre O (0,0) to give triangle P?Q’R?. Draw triangle
Q’R? and state its co-ordinates. (2marks)

(d) Triangle P'Q'R" undergoes reflection in line y =x to give triangle P°Q°R®, Draw P*Q°R® and state
its coordinates. (3armks)



MATHEMATICS
FORM TWO - MARKING SCHEME

% T R
, | i I

[ AR SRERE
| | | A e
et , LEEE S RS e e )
U7X \ | Vi Bisectis losqfv\[g

[iikites
% 3/ e 0N RGO\ (ol B T (e,






